Converting from Latitude and Longitude to WV State Plane Coordinates

(North Zone)
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Converting from WV State Plane Coordinates to Latitude and Longitude

(North Zone)
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Converting from Latitude and Longitude to WV State Plane Coordinates

(South Zone)
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Converting from WV State Plane Coordinates to Latitude and Longitude

(South Zone)
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West Virginia State Plane Coordinate System
In brief:  WV State Code (section 30 – 13A – 17) stipulates that the state will be divided into a “North Zone” and a “South Zone”.

The following counties constitute the North Zone:  Barbour, Berkeley, Brooke, Doddridge, Grant, Hampshire, Hancock, Hardy, Harrison, Jefferson, Marion, Marshall, Mineral, Monongalia, Morgan, Ohio, Pleasants, Preston, Ritchie, Taylor, Tucker, Tyler, Wetzel, Wirt, and Wood.

The following counties constitute the South Zone:  Boone, Braxton, Cabell, Calhoun, Clay, Fayette, Gilmer, Greenbrier, Jackson, Kanawha, Lewis, Lincoln, Logan, McDowell, Mason, Mercer, Mingo, Monroe, Nicholas, Pendleton, Pocahontas, Putnam, Raleigh, Randolph, Roane, Summers, Upshur, Wayne, Webster, and Wyoming.


The 1983 coordinate system for the North Zone is a Lambert conformal conic projection of the North American Datum of 1983.  This zone has standard parallels at north latitudes 39O 00’ and 40O 15’, the origin is at 38O 30’ north and 79O 30’ west, and the origin has coordinates of x = 600,000 meters, and y = 0 meters.  The 1927 coordinate system for the North Zone is a Lambert conformal conic projection of the Clarke Spheroid of 1866.  This zone has standard parallels at north latitudes 39O 00’ and 40O 15’, the origin is at 38O 30’ north and 79O 30’ west, and the origin has coordinates of x = 2,000,000 feet, and y = 0 feet.  


The 1983 coordinate system for the South Zone is a Lambert conformal conic projection of the North American Datum of 1983.  This zone has standard parallels at north latitudes 37O 29’ and 38O 53’, the origin is at 37O 00’ north and 81O 00’ west, and the origin has coordinates of x = 600,000 meters, and y = 0 meters.  The 1927 coordinate system for the South Zone is a Lambert conformal conic projection of the Clarke Spheroid of 1866.  This zone has standard parallels at north latitudes 37O 29’ and 38O 53’, the origin is at 37O 00’ north and 81O 00’ west, and the origin has coordinates of x = 2,000,000 feet, and y = 0 feet.  
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